19—C/F1I/CC/PT-2023 Booklet Series

Candidate’s Roll Number

A

Question Booklet
GENERAL STUDIES

Serial No.

Time Allowed : 2 Hours Maximum Marks : 150

Read the following instructions carefully before you begin to answer the questions.

[

10.

11.

12.

13.

IMPORTANT INSTRUCTIONS

. This Question Booklet contains 150 questions in all.
. All questions carry equal marks.
. Immediately after commencement of the examination, you should check up your Question

Booklet and ensure that the Question Booklet Series is printed on the top right-hand corner
of the Booklet. Please check that the Booklet contains 64 printed pages including two pages
(Page Nos. 62 and 63) for Rough Work and no page or question is missing or unprinted or
torn or repeated. If you find any defect in this Booklet, get it replaced immediately by a
complete Booklet of the same series.

. If there is any sort of mistake either of printing or of factual nature, then out of English and Hindi

versions of the questions, the English version will be treated as standard.

You must write your Roll Number in the space provided on the top of this page. Do not write
anything else on the Questi klet.

An Answer Sheet will b cﬁ‘ te yg In t ator to mark the answers. You
(t'(h) Estt:iB e%e[ nd other particulars in the

must write your Name
’ w,p,l,'r .S,lpee} [flf(]er ed; ..lﬁllmg which your Answer Sheet

space provided on Pag
will not be evaluated.

You should encode your Roll Number and the Question Booklet Series A, B, C or D as it is
printed on the top right-hand corner of the Question Booklet with Black/Blue ink ballpoint pen in
the space provided on Page—2 of your Answer Sheet. If you do not encode or fail to encode the
correct series of your Question Booklet, your Answer Sheet will not be evaluated correctly.

Questions and their responses are printed in English and Hindi versions in this Booklet. Each
question comprises of four responses—(A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark it in your Answer Sheet. Your total marks will depend on the number of correct
responses marked by you in the Answer Sheet.

. In the Answer Sheet, there are four circles—®), ®), © and © against each question. To answer

the questions you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your
choice for each question. Select only one response for each question and mark it in your Answer
Sheet. If you mark more than one circle for one question, the answer will be treated as wrong. Use
Black/Blue ink ballpoint pen only to mark the answer in the Answer Sheet. Any erasure or
change is not allowed.

For each question for which a wrong answer/more than one answer has been given by the
candidates, one-third of the marks assigned to that question will be deducted as penalty.

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to
take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination has concluded, you must hand over your Answer Sheet to
the Invigilator. Thereafter, you are permitted to take away the Question Booklet with you.

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide at their discretion.

Candidates must assure before leaving the Examination Hall that their Answer Sheets will be
kept in Self Adhesive LDPE Bag and completely packed/sealed in their presence.

ST F ¢ TR B Tee wuTea 36 greeRt o arteam gg qxwar g1 NI



1. Which of the following 3. Match List-I with List-II :
technologies will be enabled by

the 5G mobile communication Léit_hl I(’;S?_,H
networks? (. oth) (Origin)
. a. Linen 1. Coconut plant
1. Internet of Things b. Coir 2. Flax plant
2. Edge Computing c. Mohair 3. Feathers of duck
3. Network Slicing and geese
d. Down 4. Angora goat
Select the C.orrect answer using Select the correct answer using
the codes given below. .
the codes given below.
(A) Ol’lly 1 and 2 (A) a b c d
(B) Only 2 and 3 1 3 2 4
(C) Only 1 and 3 B) a b d
(D) 1, 2 and 3 4 3 2
(C) a b C d
2. Match List-I with List-II : 2 1 4 3
List—I List—II D) a b c d
(Space Mission) (Exploration) 4 1 3 2
a. Cassini- 1. ] (R
Hu SL l L C[ ( i b‘rlsll& the following state-
ygens seali . nﬁ .
b. Juno 2. nd!‘ft'g{ “I'r}r fr“ oents -
rings "1. Taeniasis is an intestinal
c. Artemis 3. Venus infec‘tion caused by three
d. VERITAS 4. Human Space- species Of. tapeworm.—
i Taenia solium, Taenia
ight—Moon . .
saginata and Taenia
to Mars -
aswatica
Select the correct answer using 2. When cysts develop in the

the codes given below. brain, the condition is

d referred to as neuro-

(A) a b c
2 1 4 3 cysticercosis (NCC).
(B) a b c d Which of the above statements
3 1 4 2 is/are correct?
C© a b ¢ d (A) Only 1
2 3 4 1 (B) Only 2
D) a b c d (C) Both 1 and 2
3 1 2 4 (D) None of the above

19-C/FI/CC/PT-2023/201-A 7 1 11 LA AR LR T



1. f=fafaa 4 @ =@-@1 d&ieh 3. I = -1 9 gAfera T

5G HidEd T9R Jeds g H&m i
. -1 11
e () (3eaf)
1. 3ewe s o a. ferma 1. wferet @1 den
2. TS ®FRT b. ST (F) 2. G T G
3. Jeaeh TATEE c. AIERR 3. g IR S & T
H R T g W owEm w wE Iw d. s=A 4, M SR
KA = few T g oW W Ed IW
(A) e 1 3R 2 grm
(B) ad 2 3R 3 A a b ¢ d
(C) Faer 1 3k 3 1 3 2 4
(D) 1, 2 3" 3 (B) j g X g
2. g1 & g-11 9 gafea Hfw . (€) ; 1; Z g
(313'%%;31?) %) ‘nlpe ‘iD)-j ,bocd
poe Select Civids 1
a w1 !".mfmf; f'f'rfqrrff’ .
b. S 2. CER 4. | el W fo=m HIT
c. | 3. % 1. fenfea we sAtal 1 GshA 2, S
d. Jfem 4. WA SidRe STH— e e w2

T § WA U a6 Giferam, 2= grfirer =R 26

TR % 10T 2l 2|
o~ e
;ﬁfi“%m I 2. wa uE & R feRE @

S ®, d zE ferda W

@A) a b c d “fafeeanid  (THo Ho Hio)
2 1 4 3 st S 21

(B) 2 ? Z ;1 TEF T /Y T w3 /R

(A) Faad 1

(C) a b c d
2 3 4 1 (B) et 2

Da b c d (C) 1 3R 2 At
3 1 2 4 (D) 37 | & HIE T
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5. Which of the following are 7. Which of the following are not

computer languages? the tastes of the tongue?
1. Sweet

1. Cob

obra 2. Bitter

2. Python 3. Salty
4. Spicy

3. Squirrel S. Umami
6. Sour

4. Java
7. Pungent

Select the correct answer using

the codes given below Select the correct answer using

the codes given below.

(A) Only 1 and 2 (A) 2, 5 and 7
B) 1, 3 and 4
(B) Only 3 and 4 (C) 4 and 7

, 1'(D) 3 and 6
Select Civils
] -y . . Whigh of the following pairs are
!f'm'[“l ; (18]' ﬁ(])ﬁictly matched? °F

(C) Only 1, 2 a

(D) All of the a

1. Anorexia : Sleep disorder
2. Insomnia : Eating
6. What is the full form of GPT disorder
in ChatGPT tl i
m & , fecenty seen m 3. Dyspnoea : Shortness of
the news?
breath
4. Anosmia : Partial or full

(A) Glutamic Pyruvic Trans-

. loss of smell
aminase

Select the correct answer using
(B) GUID Partition Table the codes given below.

(A) Only 1 and 2
(B) Only 2 and 3
(C) Only 3 and 4

(C) Grooved Pegboard Test

(D) Generative Pre-Trained
Transformer (D) All of the above
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5. frfafad & & #9-df wreE g 87

d= fer T g W oW W A IW
Kl

(A) a1 3R 2
(B) adt 3 3R 4

(C)éﬂaLzaﬁr

(D) 3wt @i

LT dOd wEEW A3 e W
Sz-fto o Fo &, o o Fo w1 ol
w9 F1 27

(A) TR TTEEfaE TS

(B) Sflo Fo 3o o TiféeM 2aa
(C) TeE TS 3

(D) SRfea Hi-dg ZrEwiR
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. fafafege 4 9 #=F-9 Siw & @r

T 27
1. Ter

N o gk Db

f= fer T Fe W oW W S W
g

(A) 2,537

(B) 1, 33 4

(C) 437

Select CivHEr
h-r.r:h'nf; ||'f8~. e

79 ®E-8 We w9l

gAfera 27

1. wfeEn . i g faen

2. TR . @M W faER

3. femfmm . @@ aFcis

4. UAfEET  : Ty oA A
oof =T

d= fer T g W oW W S W

EGY

(A) Faad 1 3R 2

(B) %t 2 3R 3

(C) et 3 3R 4

(D) 3wt @i
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9. In the wuniverse, what are 12. What is/are the full form(s)

pulsars? of HMX?

(A) A group of stars 1. High Melting Explosive

(B) Rotating neutron stars 2. High-Density Monoatomic
Xenon

(C) Explosion of a star
3. Hedge Monetizing Xeno-
(D) Radio waves emitted by currency
a star
4. Her Majesty’s Explosive

Select the correct answer using

10. In the context of lab-grown the codes given below.

diamonds (LGDs), what is used

as a diamond seed?
(A) 1 and 2

(A) White sapphire

(B) Moissanite )

(C) Graphite

L] .,*B) «2 and 3
Select Civils
!‘Hmfnlfi f’{".. ‘,KC! .r]ironly 1

(D) 1 and 4
(D) Cubic zirconia (CZ)

13. What is the name of Tesla’s

11. What is the ‘fibre’ used to make humanoid robot launched in
bulletproof jackets? October 20227
(A) Nylon (A) Sophia
(B) Terylene (B) Atlas
(C) Tweed (C) Pepper
(D) Kevlar (D) Optimus
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9. &S H, Yo’ 1 &7

10.

11.

(A) AR I TH T

(B) ¥ = @

(C) foreft ar =1 forewmre

(D) forelt ar g Icafsia e vt
TR § faeRfad ER (Teo Sfto o)
F Hed ¥, M F AT F w0 § o
3T feRa ST 27

(A) The Hrem

(B) WgHMTE:

(C) T

(D) e it (Ffo Seo)

JoIe-YF Sohe oM o fore 3w fomen
S ATl BIgsR T 77

(A) I
(B) 2fwefm

©) 3=

(D) e
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. Tdo THo TFHo /% 0T &9 &1 B/?

1. =8 ufcd waited
2. TE-SRHE AFEEE S
3. T HITEleT SR

4. T ASEE W

d= for T g W oW W EE IW
L

(A) 132

(B) 233

Select Ciy da%l
fprrn"ul-f’”' frr-r

(D) 1 3R 4

13. 3faeR 2022 § @i-a fRu MU % &

FAATES UaTE T T F1 27
(A) @it

(B) we™

(C) W

(D) oATfemd
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14. What is the ‘Manhattan Project™ 17. The amount of solute present

per unit volume or per unit
(A) A research and development mass of the solution/solvent is

undertaking that produced known as in Chemistry.
the first nuclear weapons

(B) One of the Ilargest art

auctions of the world (A) composition of solute

(C) A real estate project in
New York City (B) concentration of solvent

(D) A famous theme park

(C) concentration of solute
15. The image formed by concave
mirror is real, inverted and of

the same size as that of the (D) concentration of solution
object. The position of the object

should be

(A) at the focus

\ elecbOmdlSe  covip  vaccines
L l‘ﬂ |.r; r{ ! .r:ﬁtm#hlate an immune response?
and ’

(B) at the centr

(C) between the focus
centre of curvature

(A) By introducing live
(D) beyond the centre of attenuated SARS-CoV-2
curvature virus

16. A photoelectric cell is a device
which (B) By introducing a real

SARS-CoV-2 virus
(A) converts light energy into
electric energy

(C) By introducing a harmless

(B) converts electric energy into piece of SARS-CoV-2 virus

light energy
(C) stores light energy

(D) By introducing antibodies
(D) None of the above against SARS-CoV-2 virus
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14. ‘B ufEsHr o 37

15.

16.

(A) TH IgEuH IR fowE 3w,
o weet vy ERER w1 3ere
fera

(B) gfem i e wrE wen-Hamdt o
q T

(C) =i & d ww foa wwe
IS

(D) U uftg offw 1

Hadd U FN SR T Wit
arafash, 3Ieel IR AXG F AHER F
TR Bl 81 agg <l feafa S e
feu?

(A) " T

(B) W%ﬁ%m
(C) Iehd 3R Fghdl g o st
(D) Fshal % § W

BIEAfE U TH UH S0 R,
EIRED

(A) v e ol foE@ e OH
e B

(B) foga =i & e W oH
EEEGIR

(C) TehIST STl ol WSHUT LT &

(D) 3T § ¥ HIg T
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17. fao=e/foems & ufd soE e I

ufd s geade H uferd foem i
el R wWEE A R ®w Od ST
Elk

(A) Tt 1 geed

(B) farctmeres =it s

(C) forera Y wigar

(D) forera i @igan

SeleclUEils e st = 32
['.-r.r:h'nr’; feq :fa%ﬁd;

A 87

(A) SfAfaa &for SARS-CoV-2 =™
EENIETIE

(B) T& dwale®  SARS-CoV-2
TG TSI Ik

(C) SARS-CoV-2 o & Uk
FIfRfEd ZheT vaT &k

(D) SARS-CoV-2 arR| & facrs
Terel TaT Hh
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19. Which of the following liquids is 22. How do vector vaccines work to
a bad conductor of electricity? provide immunity?

(A) By introducing a weakened
or inactivated virus into
the body

(A) Salted water

(B) Orange juice

(B) By directly attacking and

(C) Lemon juice destroying pathogens in
the body

D) N f the ab
(D) None o © above (C) By placing the virus in a

modified version of a

different virus
20. The DNA double helix structure

was discovered by (D) By entering directly into the
cells and enabling them to
(A) James Watson and Francis create spike proteins
Crick

23. The process that -continually
(B) Rosalind Franklin and adds new crust is

Maurice Wilkins | )
. . 114), 3 uction

(C) Linus Pauli ‘) SEICL[ ( i iﬂ I

['.-r m"u |f; f’ [ :JHB) ;]I'earthquake

(D) Gregor Mendel (C) seafloor spreading

(D) convection

21. Two objects of different masses

falling freely near the surface of 24. The theory that states “pieces of
the Moon would the Earth’s crust are in

constant, slow motion driven by

(A) have different accelerations movement in the mantle” is

called
(B) undergo a change in their (A) the theory of continental
inertia drift
(C) have same velocity at any (B) the theory of Pangaea
instant (C) the theory of plate tectonics
(D) experience forces of same (D) the theory of  plate
magnitude boundaries

19-C/FI/CC/PT-2023/201-A g Ko S0 11K R R LT T



19. ffafgs 4 @ #F-w1 T@ fosedt = 22. FF Ak Afcliers wfth 9eH i & fog

FaTh 27 Y HH FA &7
(A) TN T (A) Tt s a fifeR amem =@
IR oIS R
(B) W (B) TRR W TSkl W €Y g *W
. 3R I T8
(C) g =t T
(C) =amra 1 freft fim @ *
(D) 3w § | g AL G TR § Tt

(D) Hg HIfTEFT ° ga9 R AR

20. Eio Tdo To T BfcAdd TL=HT hl @IS ST RS MW W A wEw

forer 10 1 T off? e

(A) S dfedd IR Hitkw T 23. AR TF Wd el arefl  ufe
fefafaa 9 9 - 27

(B) Usifcre Tharfer

Select CivAsss @)

(C) fora ifem !".-rr:h'nr; ||'H If({g; ‘(W”
(D) TR Hee (C) THzad I harE
(D) "I

21. 3TA-IAT FANH HI q U FAFHT
N Hdg & U9 Wad ®9 ¥ 3 @ 24. “‘yoea ¥ g Hewt § M FW PR,

Rl it TR & vt @9 §17 Tw fgi
I FAT HT ST 27

(A) TCTT-Tel 0T B
(A) T e g

(B) 3% Sgcd H gfarda grm . .
(B) Hfsrn frgra

(D) T TRHETOT % e T ST BRI (D) e Hm frgia
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25. What is the expanded form of

26.

27.

the term ‘mRNA’ that has been
widely discussed since the
beginning of the pandemic?

(A) Messenger Ribonucleic Acid
(B) Mutant Ribonucleic Acid
(C) Modified Ribonucleic Acid
(D) Mnemonic Ribonucleic Acid
An AC current can be produced
by

(A) choke coil

(B) dynamo )

(C) transformer

(D) None of the above

Current density is

(A) a scalar quantity

(B) a vector quantity

(C) dimensionless

(D) None of the above

19-C/FI/CC/PT-2023/201-A

28.

29.

What is the basis of most
useful classification of medica-
tions in medical chemistry?

(A) Pharmacological effect

(B) Molecular targets

(C) Chemical structure

(D) None of the above

Which of the following slows

down the reaction rate?

(A) Catalytic promoter

‘;{:ICC[ (:iéi chﬁogeneous catalyst
!f'i'f"!l[ill I-"j‘ r{'} -f:lr (e

.(C) Heterogeneous catalyst

(D) None of the above

30. Input and output nerves meet at
(A) liver
(B) central nervous system
(C) heart
(D) None of the above
12 [Ty AR



25. To Mo THo To (mRNA) W& &I 28. Hfgwal HUE ¥ qansti &1 afien forg

fomfm &1 @ 2, W wEemd # MY W gay 31feres 3w 87
YEITT U & A9 9§ == @ a7
A) e gaE
(A) SR e e
(B) omf ek atex
(B) e Tgai={f Ui
(C) TETIH T
(C) wifewze TgafFs Ufhs
(D) 39t # @ IS T

(D) =W TEaIfacs v

29, fr=fafga & @ w-wr gfafse=n & =
26. AC 2 hl FH Icqd FLd 87 Sl |1 e 27

(A) < Feelt g (A) 3IOR® ILF

(B) FAM F ) Selecl (il:’giilﬁﬁm

!"Hr:h‘m f’f‘. :fr r.r]ir

(C) AR FR () ot 3
(D) 3T # & g T (D) v # & ¢ T
27. 9N 59 BT & 30. =T qen ffa dfeer frerdt §
(A) T 3w al (A) =Fa #
(B) T dfesr Tl (B) st dfet o |
(C) femmferdt (C) == d
(D) ITF # & g T (D) I & & g T
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31.

32.

33.

In the context of ‘Shipwreck
Tourism’, shipwrecks in Indian
waters have been explored at
Sunchi Reef, Amee Shoals and
Grande Island. Where are these
locations?

(A) Off the coast of Goa

(B) Off the coast of
Lakshadweep

(C) Off the coast of Tamil Nadu
(D) Off the coast of Odisha

The G20 members represent

1. around 85% of the global
GDP

2. about 50% of the global
trade

3. about two-

Which of the above statistics
is/are correct?

(A) Only 1

(B) Only 1 and 3
(C) 1, 2 and 3
(D) Only 1 and 2

Who is the Head of Russia’s
Wagner Mercenary Group?

(A) Sergei Shoigu

(B) Yevgeny Prigozhin

(C) Aleksandr Lukashenko
(D) Volodymyr Zelenskyy

19-C/FI/CC/PT-2023/201-A

34.

35.

The Global Gender Gap Report
is released by

(A) the World Bank
(B) the UN Women

(C) the World Economic Forum

(D) the UNDP
Which one of the following
statements regarding Queen

Elizabeth II of the
Kingdom is correct?

United

(A) She reigned for 70 years
and died at the age of
96 years.

(B) She reigned for 68 years

1 y=_ =and died at the age of
f‘ﬂf‘fl[?[fl (JI\ ﬂ%wears.
world popule

[}1ﬁfnl

';lr fr” 'rfl(rCS Ir]IrShe reigned for 72 years

and died at the age of
92 years.

(D) She reigned for 66 years
and died at the age of

90 years.
36. What was the theme of DefExpo-
2022, held in Gujarat?
(A) India The Emerging
Defence Manufacturing Hub
(B) Path to Pride
(C) Synergy for Defence
(D) Aatmanirbharta
14 (TR



31.

32.

33.

‘Torge fen’ & wadd #, geft G, wt
I qAT TS FT TR RS T § STarsii
F TS 1 qdqT ATET T BT T
EIi

(A) e qe % STEL

(B) @& q< % FTEX

(C) afeHTg a2 % aTR

(D) enfeam a2 & =R

G20 ge= yfdffica o &

1. afggs Sfio o dlo @ @y
85%

2. Sfvaes =R &1 T 50%
3. Tawa i amm qi-fage saeen

Tl & & -
3/37

(A) Faa 1

(B) a1 3R 3
(C) 1, 23R 3
(D) a1 3R 2

G & IR IS o Al Tg 1 glean
EaE I

(A) TS =My

(B) A=At Rrmifem
(C) 3TIoRdTS oRTRIH!
(D) TAITSHER Sicwsht
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34. TEA Sie MW Ok fresh g/ S

35.

STt 87

A) fava 9=

(B) ww g wieam
(C) fowa smides w=

(D) Jo Tdo 2o To

Fages famen 1 meRHl  ufaemey
fadim & ey 4, f=fafiaa 8 @ FF-w
FHUA T 27

(A) 3=H 70 =T q% WA TR 3R
96 a9 i 311g # IAh! geg B W)

. . 4B) <%EH 68 a9l d% A R 3R
‘%"ICCI ( \'maﬁrmﬁwa?rﬂﬁﬂﬁl

!".-rr:h'ulr; feq IJfrr.r]i'

N(C) 3= 72 =t qs e fRa IR
92 o i IR | IhH g & TE|

(D) 3=H 66 TNt qsh IEA TR 3T
90 ¢ i 31 # IThH g A TE |

36. TG H ARG DefExpo-2022 i

formr @ o?

(A) 9RA : 3waT g T fafmior e
(B) T =T @R

(C) e & foTu drere

(D) STTCHTSE
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37. The three-day celebration 39. ‘Net Metering’ is sometimes seen

of Thadingyut Festival is in the news in the context of
celebrated in which country? promoting
(A) Chile (A) the installation of CNG kits

in motorcars

(B) Nepal (B) the installation of water

(C) Germany meters in urban households

(C) a billing mechanism for
solar energy by consumers
for the electricity they add

(D) Myanmar

. ) to the grid
38. Consider the following
statements regarding the (D) the use of piped natural
‘White House’ : gas in the kitchens of
households

1. The address of the White

House is 1800 Pennsylvania 40. Match List-1 with List-I :

Avenue.
‘ . List—I List—II
2. It is the of idenc - (I\C/I our) l _ (Combination)
and  work S L L la elg‘nl "g 1. Green and blue

President of [-,m fi'l |,J|r Lf-f ;[‘efd { ,r]l' 2. Red and blue

3. On November 1 1800 c. Mauve 3. Blue, green and
John Adams became the white
first President to take d. Cyan 4. Blue, red and
residence in the building. white

Select the correct answer using

4. It is a symbol of American ;
the codes given below.

Democracy.

Which of the above statements (A) a b c d
are correct? 2 3 4 1
B) a b c d
(A) 1, 3 and 4 2 4 3 1
(B) Only 2 and 3 (C) a b c d
4 2 1 3

(C) Only 3 and 4
D) a b c d
(D) 2, 3 and 4 3 4 2 1
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37. ufeRe werda 1 dH-foadi 3ca

38.

foFg <91 & R ST 27

A) Tt

(B) Ut

(C) <

(D) wmR

‘CEe TRE %GRy W, fAefafad
oAt W foem A

1. %@ T34 & ua, 1800

et v 7

2. ¥UE HYH TA
STTeTRTIR

3. 1 F@=R, 1800 = W4 UeH 39
TR o e w9 TEd
Tqyafd sH |

4. Ig ST Aha H1 Il B

IWE T ¥ HE-T FHIA T 27

(A) 1,3 3R 4

(B) %ad 2 3R 3

(C) aat 3 3R 4

(D) 2, 3 3R 4

19-C/FI/CC/PT-2023/201-A

39.

40.

elect Civils

R i1 foy o .r(ﬂcg

T e wm owfi-wft e |
fopEeh TR o Hex H @ S ¢

(A) "R § "o o Sfto e
TR

(B) el =i ® Ut % wiex st Tmon

(C) s fafem @, it W) =t yomedt
aifeteRt 1 e @ Sl g fotett
1 9T 3T

(D) =& # WK H 92T FR ki
TG 1 39T

-1 1 gHI-11 & gafad Hifm
gA-1 qe-11
(@) (wTsT)
1. B0 3R Hfien
2. 9@ AR e
3. e, & S 9k
d. femm 4, e, @ 3R
|ha

f= few T Fe W W W A W
ki

(A) a

o8
@]

B) a b c

(€) a

N
N o
— 0
w o

o8
@]

(D) a
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41. What is the name of the deep-
sea submersible that imploded
during an underwater voyage to
the Titanic wreckage?

(A) Alvin
(B) Falcon
(C) Trident
(D) Titan

42. Match List-I with List-II :

List—I

(Footwear/ Fashion

Accessory)
a. Beret

b. Stilettos

c. Aviators
d. Chignon

e. Brogue

> w

List—II
(Description)

. A type of men’s
footwear

. A type of sun-

footwear
. A type of
hairstyle

Select the correct answer using
the codes given below.

(A) a
3
(B) a
3
€) a
5
D) a
1

b

w T ~ T N

N T

c d e
1 4 5
c d e
2 5 1
c d e
2 4 1
c d e
3 4 5

19-C/FI/CC/PT-2023/201-A

43. Where did the former President
of the USA give his interview
recently?

(A) Rome
(B) Sarajevo
(C) Athens
(D) Amsterdam
44. In the context of sports, which

of the following pairs are
correctly matched?

1. Flushing Meadows : French
Open

S‘CICCI ( :iZ\, i\l Jus Rosewater Dish

!f,' s l[ill I-’; fr{ : I:” i Ir]fWimbledon Trophy (Women)

3. Roland Garros : US Open

4. Australian Open (Women) :
Daphne Akhurst Memorial
Cup

Select the correct answer using
the codes given below.

(A) 1 and 2
(B) 2 and 3
(C) 3 and 4
(D) 2 and 4
o KJ 3 CLER AR RO T



41. TE THE H oA aTell 34 gAgsst A1 AW 43. GIE TST IR o Id Al 4 &1 &

w1 2, S e e & damEn i T 79T |k el fean?
AT o A ®e TS ofi?
(A) wfem @)
(B) rehd (B) @RSE
C) gmEee .
© (C) uew
(D) e
(D) wwEH
42, -1 = gA-1I § gafaa H
-1 -1
(S /e -weraeh (Teramon)
|mmLt) 44, ©a % gy A, fefafaa 4 @ =9-9
a. a2 1. &St % S[d I Th S wel gAferd 87
PETNS
b. feaRs 2. Th TR &l g9 1. SR Hies : e 37
. v 3. Select CpyHS i fo - fimes 76
d. R 4 !‘aw:h'm’: fev geed (wfie)
e. S 5. Uh YhT 1 - 3. H e e
4, AR 3ua (wfgen) : s
f= fau U e w oW W T I FGE AHIEe F
i f= feT T Fe W oW W S W
(A) a b C d e g
3 2 1 4 5
B a b c d e () 132
3 4 2 5 1
(B) 2 3R 3
(C) a b c d e
5 3 2 4 1 © 3%k 4
D) a b c d e
1 2 3 4 5 (D) 23 4

19-C/FI/CC/PT-2023/201-A 19 [IHNANTITOATn i  p.r.o.



45. The Ministry of Home Affairs has 48. Which country has recently

completed the Mother Tongue reaffirmed Arunachal Pradesh
Survey of India (MTSI) in as an integral part of India?
November 2022 with field

videography of the country’s (A) USA

how many languages?
(B) Australia

(A) 40
(B) 233 (C) Germany
(€) 576 (D) Russia
(D) 984

46. Which State Government 49, Ind‘ia’s Rudr:ankksh szllasahe,lo
launched the State-Level Patil W(,m ngeh rr;ledal n Menls
Committee for Vulture 10 m Air Rifle at the ISSF World

Conservation (SLCVC), proposed Championship in Cairo?

by the national action for the
protection of vultures in India? (A) Gold

o e [ERSclect Civits-

(B) Sikkim !f"“"[“ |.le[ frH I!(ES Ir]IrBronze

(C) Assam

(D) Meghal (D) None of the above
eghalaya

47. Ten Faptive—bred 'Asian Giant 50. The National Education Policy,
Tortoises (Manouria gmys), one 2020 emphasizes the integration
of the largest tortoise species of vocational education into

in mainland Asia, were recently
released into which National
Park of India?

mainstream  education from
which grade onwards?

(A) Ntangki National Park (4) Grade 6
(B) Periyar National Park (B) Grade 8
(C) Pench National Park (©) Grade 10
(D) Khangchendzonga National

Park (D) Grade 12

19-C/FI/CC/PT-2023/201-A Jo D 1 CCCIRT ARRIRRTRMRRTRRE 1R A TE



45. g WA | TER 2022 H W H
fraft et i fies Aifgammdr &

Y ARAE WG G (THo o
THo Mg ) M il I R 77

(A) 40

(B) 233

(C) 576

(D) 984

e g wWHR I vRa ¥ fgl *
W0 & foIu Ui A g TEartad
firg wem & fou wsg-wlm w@fufa
(Tdo Wdo Hlo o Hio) T FPURW

46.

48. T & U frg w7 e @ srumew
eI hI WA T Teh AT 37 =fvd
foran 27

(A) o THo Wo
(B) referan
(C) S

(D) =&

T o &4 STeTEres qifed 3 el ®
3o THo THo Tho dos wFFHRT H
el i 10 "X TR TEhA H wH-d1
qaeh Siar?

49.

fera?
(A) @i

) s ) Select Ciyils

B) ffem (vealing fos et

©) s () e

(D) Herer (D) ST | @ I3 T
47. 8 e @qg‘%"\’”w'w 50. g fuen ifq, 2020 fre I @

(seife afire), et i e & wed S fven 1 germ 6 R

S P FeIfeE W W U, Tl @ A T O WSR3 B

aRd & fore T 39 8 318 T 97

(A) TAnTEh TEE 3 (a) 736

(B) ufem ug sam (B) ¥= 8

(C) = T 3 (C) =10

(D) AT TEE A (D) U 12
19-C/FI/CC/PT-2023/201-A 21 [IIUNEHT I [ e.r.o.



51. India signed the Economic 53. Tillyardembi Fossils of the

Cooperation and Trade Agree- world’s first plant pollinators,

ment (ECTA) with  which called Tillyardembiids, were

country? discovered recently in which
country?

(A) UAE

(A) Greece
(B) Australia

(B) India

(C) USA
(C) Russia

(D) UK
(D) China

Select Civils
f'umh'm’: L{; -f:lr r.r]Ir

52. The Plain Language Act was !The ‘Lisbon Declaration’, which
passed by which of the made headlines, is associated
following countries recently with the conservation of which
which requires Government entity?

officials to wuse simple and
easily understandable English
language in official documents

and websites? (A)  Air

A) Australi
(A) Australia (B) Mountains

(B) Ireland
(C) Oceans
(C) New Zealand

(D) Germany (D) Freshwater glaciers

19-C/FI/CC/PT-2023/201-A 22 [ IO



51. wid 4 e 3w & @iy et geam 53. 3T F TR uew W, R

IR MUR Tugid (30 Ho Ho To) W Foaefegm wa1 Smar 7, & fomanewsh
TEATeR fopu? Siared g & ° form 231 # g w97
(A) o To T @A) T
(B) errefer

(B) wrd
(C) Fo THo To

(C) &\
(D) o Fo

(D) =

52. Hes AT AR

SHect Civils

:T—Hﬁmglﬂifﬁ Tl'ﬂTl’.il}r“l"-”,r; f’{*,,.r"lrr.r]Ir
wEH e TE L ga, et i ot ferem A’ fea
g g B AW dTell USH A
TN A B SATETIRAT Bl 27
(A) o
(A)  srEgfer
(B) ued
(B) IPRIE
©) = (C) weErR

19-C/FI/CC/PT-2023/201-A 23 [N  e.r.o.



55. Which of the following animals

56.

57.

was not known to the people of
the Indus Valley Civilization?

(A) Bull
(B) Horse
(C) Elephant

(D) None of the above

Which of the following is not
a UNESCO World Heritage Site?
(A) Qutb Minar

(B) Red Fort

(C) India Gate )

(D) None of the above

The concept of the Directive
Principles of State Policy in
the Indian Constitution was
borrowed from the Constitution
of

(A) England
(B) Switzerland
(C) Ireland

(D) None of the above

19-C/FI/CC/PT-2023/201-A

58. Sikkim became a full-fledged

59.

State of the Union of India in

(A) 1974
(B) 1975
(C) 1976

(D) None of the above

Which among the following

currencies is the costliest?

(A) Euro

(B) Pound Sterling

Select Civils
!f'qir{ll"-l |,r; r{;r ,f?) Ir]IUS Dollar

(D) None of the above

60. Bihar Government has planned
to make Bihar State ‘pollution-
free’ by reducing carbon
emissions by which year?

(A) 2022
(B) 2024
(C) 2030
(D) 2047
24 | WUNUTAR IO e i



55. e § @ wH-81 W fag = 58. fufem vl w9 1 U1 T=F o T

[T & T ! AET AT oq1?
(A) 1974 ¥
(A) =@
(B) 19754
(B) =l
(C) 1976 #
(C) wreft
(D) H ¥ w05 T
D) T it & % R

59. Mg & & ®HH-H BEC]
56. Freffad # @ Fm-ar TR fwa =

HIet Torel el 87 wert 27
(A) Fa HHR (a) =
(B) dRE wfetm
(B) e feett , B
Select Civils
(C) e e f'wrr:h'nr’; feq :‘]‘F?.rfb THo Sfel
(D) 3% # & =IE T (D) 3ugth @ § g T

57. 9ydg dRgm § a5 ¥ Aif-free 60. foEr wer 1 frg ad 9% Freq Icas

forgra it sraumon foRw 3w % dfaum & F0 R R 5T A Ug-gw T
ft € oft? T ST ST 77

(A) e (A) 2022

(B) ferescte (B) 2024

(C) smRete (C) 2030

(D) 394 # & I 7 (D) 2047

19-C/FI/CC/PT-2023/201-A 25 [ NI e.r.o.



61.

62.

63.

In Indian art, the construction
of ‘Stupa’, ‘Chaitya’ and ‘Vihara’
is related to which of the
following?

(A) Ajivika sect

(B) Vaishnava sect

(C) Buddhism

(D) Shaiva sect

In the context of Indian
handicrafts, what is ‘Sujini’
in Bihar?

(A) A type of glassware
(B) A metal craft

(C) A type of embroidery
(D) A type of clay pottery

Consider the

statements

Vikramshila

Bihar :

1. It was lo
present-day
of Bihar.

2. It was established by King

following
regarding the

Gopalal of the Pala
dynasty.
3. The ‘Vajrayana’ sect of

Buddhism flourished here.
4. Other subjects like
Astronomy, Logic, Law,
Grammar and Philosophy
were also taught here.

Which of the above statements
are incorrect?

(A) 2 and 3
B) 1 and 4
(C) 1 and 2

(D) None of the above

19-C/FI/CC/PT-2023/201-A

64.

Consider the
statements :

following

The arrival of Babur into India
led to the

1. introduction of gunpowder
in the subcontinent

2. introduction of arch and
dome in the region’s
architecture

3. establishment of Timurid
dynasty in the region

4. introduction of cannons in
warfare

Which of the above statements
are correct?

(A) Only 1 and 2

B) 1,2 and 3

(C) 3 and 4

")LICLI 1 Plage of the above
lsgimf mr}r g{sm W\f{nih among the  Tollowing

ports was called Babul Makka
(Gate of Makka) during the
Mughal period?

(A) Calicut

(B) Surat

(C) Cambay

(D) Broach

66. ‘Ashta Pradhan’ was a Council

of Ministers

(A) in the Gupta administration

(B) in the Chola administration

(C) in the Maratha adminis-
tration

(D) in the Vijayanagara admin-
istration

26 | PO e



61. WA &l § ®O, W@ IR faer’ 64. Tfaiad woHl ® fomm Hifsw .

=1 fmfor fefefaa 4 o o awafea :

37 qRA | SR o ATTHA o BRI

(A) s e 1. SUNRTEIY H SRS 1 SANHA g3

(B) AW TREE 2. & h JRgHl H HelE 3T T[Ee
©) g o 1 qi=T g3

(D) a & 3. W H dyfe UvE i T g

4. FE H qi hl EIE T
62. VXA TR & d<ed #, foer #@

o 7 37 3w § ¥ HH-T FIH FE 27
(A) T TR H HiF H qdT (A) et 1 3R 2
(B) T g fareq (B) 1,233

(D) T TR &I el a1 & D) el & & B 7

SelectsCivils 2 o seom = g
ﬁ%'.-rﬁ:hm}r ||'H ::lsmwés A a1gA Heml (W F ER)

63. foer o fawafsren
A, fyefafiaa e

1. 7€ R &
feora o) " ST e
0. THE TIYET UTS A9 % T MU (A) hrefiehe
qsmﬁaﬁa"u‘ | o (B) @
3. dig 9 H TEE FREE I& ©)
ATl |
4. T wia-fEm, T, B, (D) =
TR 3T 99 S8 1 oy o
e ST 3| 66. ‘3EUaE HAf=UNEg oft
. ) s
30k | O HH-Y HIH TeAd 1 @) 5
(A) 233 .
B) 134 (B) =t wuIEE
(C) 132 (C) =R yumEd |
(D) 3 H ¥ HIg T (D) Frsem R e §

19-C/FI/CC/PT-2023/201-A 27 WA  e.r.o.



67. The painting of ‘Bodhisattva 70. Who among the following

Padmapani’ is located at introduced the Persian festival

(A) Bagh Nowruz in India?

(B) Ellora (A) Firuz Shah Tughlaq

(C) Ajanta (B) Alauddin Khilji

(D) Badami (C) Balban

68. Consider the following (D) Iltutmish

statements :

1. Fa-Hien was a Chinese 71. Nathpanthis, Siddhas and Yogis
pilgrim who visited India made devotional religion popular
during the reign of Harsha. in

2. Hiuen Tsang was a Chinese (A) Northern India
Buddhist monk who visited (B) Southern India
India during the reign of (C) Eastern India
Chandragupta II. (D) Western India

Which of the above statements

is/are correct? 72. Consider the following

(A) Only 1 statements regarding Wood’s

(B) Only 2 Dispatch of 1854 :

(C) Both 1 and
(D) None of the

It recommended English as

'.) LI [: L [ ( I\\ ltlﬂl medium of instruction

!(.-rr{f“w}r f'“ P .I' ﬁr higher studies.

69. Match List-I wit
t laid stress on female

List—I List—II ' education and vocational
a. Charaka 1. Mathematics training.
b. Brahmagupta 2. Medicine Which of the above statements
L . is/are correct?
c. Varahamihira 3. Playwright
) (A) Only 1
d. Vishakhadatta 4. Astrology (B) Only 2
Select the correct answer using (C) Both 1 and 2
the codes given below. (D) Neither 1 nor 2
(A) a b c d
2 1 4 3 73. The Maithili language was
(B) a b c d started to develop during the
1 2 3 4 reign of which of the following?
(C) a b C d (A) Chero dynasty
3 2 4 1 (B) Oiniwar dynasty
(D) a b ¢ d (C) Karnat dynasty
1 4 3 2 (D) Pithipatis

19-C/FI/CC/PT-2023/201-A 2 20 1 {CCTCIRT AARRRRURRTRRE 1R A TE



67. ‘it wEmTr i ufdn feoa @ 70. T U forEd 9d ¥ wRE Er T

(A) s 1 e 7
(B) werr # (A) TRt T e
(C) oAsrar #
(D) et | (B) 3¥errSEH faersi
, (C) e
68. fferfiad wemt w fomm i (D) zeqafim

1. Wwifeam us = didamsht on, s

4 6 EHA 6 A HR ST 71. e, fag s AfE 3 wke o

o o
2. w G uwH A A fag 9, ! e i SRl
e <z Ty & wrarehret & (A) ST ARA
R 9T T R Tk o) (B) feror ama
I § A F-T/A F w25 (C) W& v
(A) Fad 1 (D) ufeam wra
(B) Hadt 2
(C) 1 iR 2 M 7o .
: , . 38 % 1854 % IWU % HaY H,
(D) 3w 3 & e T R o
69. -1 g=H-11 9 3 o ijﬁeaamm%fmﬁm%
i Select CIVES: » w i s 5 frwa
['.-rr:h'nr}r feq Ifrr-rﬁﬁl
a. =% 1. 2. TOd wfgen fam iR e
b. FETH 2. faftrean S R SR e
Iuth § @ HH-91/8 FHIH aE B/E?
c. WML 3. AewER @) 1
d. fommaen 4. Sy (B) had 2
N e NI g (©) 1 ¥k 2 =i
(D) 9 13mad2
gL
(A) a b c d
2 1 4 3 73. ufyct ww w1 faeww fefafed |
B a b ¢ d forErh eI % SN & g3T7
1 2 3 4 (A) = TeEm
C) a b C d .
3 2 4 1 (B) WW
D) a b c d (C) e T
1 4 3 2 (D) fuferafa

19-C/FI/CC/PT-2023/201-A 29 [ NI  e.r.o.



74. Which city served as the capital

75.

76.

of the ancient kingdom of
Magadha during the early Vedic
period?

(A) Rajagriha

(B) Campa

(C) Vaishali

(D) Pataliputra

Which of the following
statements about the
Vernacular Press Act is/are
correct?

1. It was enacted by Lord
Lytton.

2. It came to be known as a
‘Gagging Act’.

3. The Act was repealed by
Lord Ripon.

Select the correc
the codes given 1
(A) Only 1 and
(B) Only 2 and 3
(C) Only 1

D) 1, 2 and 3

Which of the following state-
ments about Lord Mayo’s
Resolution of 1870 are correct?
1. It was the first step that
bifurcated Central and
Provincial finances.

2. Provincial Governments
were empowered to admin-
ister certain services.

3. It attempted to
existing imparity.

rectify

4. It focussed on the actual
needs of the Provinces.

19-C/FI/CC/PT-2023/201-A

77.

78.

Select the correct answer using
the codes given below.

(A) Only 1 and 2

(B) Only 1, 3 and 4

(C) Only 2, 3 and 4

D) 1, 2, 3 and 4

Nitisara, an early book of
politics, was written by

(A) Kautilya

(B) Kamandaka
(C) Charaka

(D) None of them

Futuhat-i-Alamgiriwas written by
(A) Ishwardas Nagar

(B) Bhimsen

(C) Haridas

(D) None of them

j‘ Sélect Civils
, ['.fr;fq‘.l.f '(191;; oc

/Meghavarman,

ding to Chinese source,
the ruler of
Sri Lanka, sent a missionary to
which of the following Gupta
Kings for permission to build a
Buddhist temple at Gaya?

(A) Chandragupta I

(B) Samudragupta

(C) Chandragupta II

(D) None of them

80. When was Bihar first separated
from the Bengal Presidency
under the British-ruled India?
(A) 1912
(B) 1936
(C) 1947
(D) None of the above

30 [T e



74.

75.

76.

TR dfdh T & SR M-8 I
TT 7Y TS Skl TS o6 w9 H
T HLAT AqT?

(A) TSR

(B) =wm

(C) aumedt

(D) referg=

T T e T S e £
U HF-41/H Fod T 2/87

1. 3§ die fored g sAfafafa forn
T o |

2. 3@ ‘N sfufEm’ % w9 § I
Eichsull

3. 3@ Atufem w1 @ fom 3 s
T T o)

d= few T Fe W

|

(A) a1 3R 2

(B) %ad 2 3R 3

(C) et 1

(D) 1, 233

die WA % 1870 & Tehed & SR H,

frafefaa @ @ #9-8 %o @ 87

1. FEF R uda fom o fanfsa
FHH AT TE TEAT had AT |

2. Ui TIHRI I FB AATE T
F T SAER T )

3. THH HINE FEHHAT Rl GURA H
BRI RED

4. ZEA Tl ARt STETIRdTsT
T M hisd foma|

19-C/FI/CC/PT-2023/201-A

77.

78.

Select (
[ mfmr

79

80.

=g few o T W FE ITW
T

(A) A 1 3R 2

(B) wad 1, 3 3R 4
(C) %ad 2, 3 3R 4
(D) 1, 2, 33R 4

T <t IRives gEaes, Hifaar, feas
3 ot 8 oft?

A) Hfeea

(B) <

(C) =%

(D) TH ¥ HIE T

Fgera-u-sawil foroes g fordt
T off?

(A) EYERE™ AR

(B) «frmeH

g

it Jia kIR, Hfice kI
Tgada 4 T B g gf@ aAm i
st & foru ffafaa & @ fra
TSI < UTE Ueh TR ST or?

(A) =TETH 9o

(B) wHsTH

(C) == fadfta

(D) T © w1 T

el forer weedt o fsfevr-wfea wrd =
qEd S YHISH! | ST g3 A7
(A) 1912

(B) 1936
(C) 1947
(D) 37 | & HIE T
31 I eoro.



81. Consider the following
statements :

1. Lake Victoria is the third
largest freshwater lake in
the world by surface area.

2. It is one of the great lakes
of Africa.

3. It is bordered by
four countries—Tanzania,
Uganda, Rwanda and
Kenya.

4. The only outflow from Lake
Victoria is the Nile River,
which exits the lake near
Jinja, Uganda.

Which of the above statements
are incorrect?

(A) 1 and 2
(B) 2 and 4
(C) 3 and 4
(D) 1 and 3

82. Consider the fi state-
ments regarding ‘heat wave’ :
1. Heat wave is considered if
the maximum temperature
of a station reaches at least
30 °C or more for plains.

2. Heat wave is considered if
the maximum temperature
of a station reaches at least
40 °C or more for hilly
regions.

Which of the above statements
is/are correct?

(A) Both 1 and 2

(B) Only 1

(C) Only 2

(D) Neither 1 nor 2

19-C/FI/CC/PT-2023/201-A

83. Match List-I with List-II :

List—I List—II
(Explorer) (Birthplace)
a. Christopher 1. Portugal
Columbus
b. Jacques Cartier 2. United
Kingdom
c. Sir Francis Drake 3. Italy

d. Ferdinand Magellan 4. France

Select the correct answer using
the codes given below.

(A) a b c d
3 4 2 1
B) a b c d
1 2 4 3
(C) a b c d
3 4 1 2
D) a b c d
1 4 2 3

S;ﬂl [:[:[8( : .PSGE : irates of UAE are
'.'f-f:fq'.l

. fr{_ 4B bu Dhabi, Dubai, Sharjah,
J|r ' Ajman, Umm Al-Quwain,
' Fujairah, Ras Al-Khaimah
(B) Dubai, Sharjah, Ajman,
Jeddah, Kuwait, Bahrain,
Umm Al-Quwain
(C) Umm Al-Quwain, Fujairah,
Ras Al-Khaimah, Riyadh,
Dammam, Taif, Dubai
(D) Sharjah, Abu Dhabi,
Ajman, Fujairah, Dubai,
Bahrain, Kuwait
85. The river Subarnarekha
originates near which of the
following villages?

(A) Ormanjhi
(B) Mandar
(C) Hehal
(D) Nagri
32 [P NO e



81.

82.

Ffafaa ot = fomm Hifse

1. @de &o%al & feae @ foweifan
o ghvn 1 e e e
a3 2

2. W8 IfH H wEH @l d X
F 2

3. TEH "W WR ¥—awTeET,
ieT, el 3R FH= F Tt B

4. fowfmn s @ fee aref
THAT 9T AT T 2, S %
oo & U st @ smer Fekerdt
2l

S0 § ¥ FH-U FU Terd &7
(A) 132
(B) 2 3 4
(C) 334
(D) 13k 3

‘G A’ F Ty

W fo=m fifs

1. afe freft Aert some 1 stftrean
AU FH-B-FA 30 °C A7 399
Ak T T S 7, A I e
A9 HET ST B

2. Ffe fordft ueret sames w1 stfereRan
qAEE FH-8-FA 40 °C a1 3699
fees qeh Iga ST g, df 39 de
A HHET ST B

3T | U HIA-T1/T FIE UL /87

(A) 1 2R 2 At

(B) wad 1

(C) Haat 2

(D) 9dl 13T 2
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83. Y1 I -1 ¥ gferd AT

-1 en-11
(ErsTeRt) (SFEerT )
a. TR wieeE 1. gamd
b. S FIfER 2. IATEE fopreH
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d. ®féfe em 4. W
F= fer T g W oW W EE W
|
(A) a b c d
3 4 2 1
B) a b c d
1 2 4 3
(C) a b c d
3 4 1 2
D) a b c d
1 4 2 3
El?l;‘b%ﬁamaﬁm%
(AI 39 g, 3R, VRSE, TS,

IW AA-oA, FoE, TH -
GHTE

(B) 3%, VNG, ISHM, SiEl, Fad,
TELH, I STA-S

(C) 3 IA-%4, Pog, TW ITd-

(D) YIRSITE, 319 e, oM, FoE,
38, et, ad

. gaviwEn &t FefaRad § 9 6 e %6

e § feherdt 27
(A) 3Tt
(B) HeR

(C) ®ea

(D) Rl
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86. Which of the following National
Parks/Wildlife Sanctuaries are
in Bihar?

1. Valmiki National Park

2. Dudhwa National Park
3. Gajner Wildlife Sanctuary
4

Bhimbandh Wildlife
Sanctuary

Select the correct answer using
the codes given below.

(A) 1 and 4
B) 2 and 3
(C) 1 and 3
(D) 2 and 4
87. Consider the following
statements regarding the

‘Gangetic Dolphin’ :
1. The Gangetic River Dolphin

has been 0
‘endangered’ /‘{?
IUCN’s Red EiSi

2. It does not have
a crystalline eye lens
rendering it  effectively
blind.

3. Navigation and hunting
are carried out wusing
echolocation.

4. It has been recognized
as India’s National Aquatic
Animal.

Which of the above statements

are correct?

(A) Only 1, 2 and 4
(B) Only 2, 3 and 4
(C) Only 1, 3 and 4
(D) All of the above

19-C/FI/CC/PT-2023/201-A

(vealingf for

88. The other name of river Gandak
is
(A)
(B)
(C)
(D)
Gold is found in which of the
following districts of Bihar?

(A) Munger

(B) Saran

(C) Siwan

(D) Jamui

The Triveni Canal has been

constructed on which of the
following rivers?

Burhi Gandak
Mahananda
Narayani
Punpun

89.

90.

(A) Kosi
(B) Sone
(C) Gandak

(D) Mayurakshi

Séleclot pepdin o :

. “R}fh placer deposits of gold

are found on the Ghana coast
and gold-bearing veins are
found in Brazil.

Reason (R) :
At some points of time, these
continents were joined
together along the Atlantic
coast.

Select the correct answer.

(A) Both A and R are true and
R is the correct explanation
of A

(B) Both A and R are true

but R is not the correct
explanation of A

(C) A is false but R is true

(D) A is true but R is false

< 2 1 TR ARRRRYRRTRRt 1R T



86.

87.

frafafaa @ @ =9-9 T s@Em/
TSl 3R 7 foem | 87

1. drcHifs T 3

2. gydl UEE ITH

3. TSR FSE STWER
4. ofig 91y I=T IR I

= few T g w oW W EE IW

M|

(A) 1 3R 4

(B) 23R 3

(C) 13R3

(D) 2 3 4

‘Tife sifewt & wrarg #, fefafaa

FYAl R fo=m i

1. Tm & i et
o THo Eq|
‘T’ SfE % '
™ R

2. ol wE fweedm 37 o T g,
S 2W 9T ®9 @ 371 99 <ol 2 |

3. IE THIAIRIE HT AN HL AW
aedl § 3T frer =i 21

4. W YR & TEA e g & &9
o w2

Iwh | | HH-U FoH wE B
(A) Had 1, 2 3R 4

(B) aa 2, 3 3R 4

(C) %aa 1, 3 3R 4

(D) 3w @+ft
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88.

89.

90.

sSelect Ciy
%!‘Hﬁﬂn"mf f'{i.
fopan 91.

Teeh el 1 gET AW ©

(A) = e

(B) HEM=I

(C) Rt

(D) T

foer % fefarftaa o @ forg f5rer § @i
YT ST 27

(A) FR

(B) @

(C) Toam

(D) g

Fraoft 7gz w1 fmin feafatea @ @ e
et 9 foma T 27

(A) =R

(B) @M

P

'arfiepem (A)
I T W 9H % 998 WiE 9
1T Sd 8 3T Ssfier & | st fIrmd
T STl €
HI (R) -
forell @ma 3 WM STediesh ae %
I THATS TIE I |
el IW |
(A) A 3R RIF W&l & IR, AR
& AT @
(B) A 3R R 3Hl @&l § W R, A &l
e e TE
(C) ATeild 2 W R TE 2
(D) A&t @ | R 7o @
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92. Bihar’s geographical structure
consists of rock systems. Match
the rock systems with their

descriptions :

a. Dharwar rock
system

1. Created by the
rapid  deposi-
tion of alluvium
by Himalayan
and Peninsular

rivers
b. Vindhyan rock 2. Can be found
system in the West
Champaran
district
c. Quaternary 3. Part of the

oldest Archaean
rock system

rock system

d. Tertiary rock 4. Sandstone,
system limestone,
dolomite,

S roc
system

Select the correct answer using
the codes given below.

(A) a b c d
3 4 1 2
B) a b c d

o
¢

(€) a

(D) a

o8
@]

19-C/FI/CC/PT-2023/201-A

Sedect Crail
- STt}E!l[i'l lf}r f'{i- ;ﬂqo.lf-

93. Which one of the following is the
world’s richest region from a
marine biodiversity perspective,
comprising twenty-one islands
with estuaries, beaches, forests
of the nearshore environment,
sea grasses, coral reefs, salt
marshes and mangroves?

(A) Gulf of Mannar Biosphere
Reserve
(B) Nanda  Devi Biosphere
Reserve
(C) Sunderbans Biosphere
Reserve
(D) Nilgiri Biosphere Reserve
94. What is the local time of
Thimphu (Bhutan) located at
90°, East longitude when the

tind &k Greenwich (0°) is 12:00

‘(A) 6:00 p.m.
(B) 4:00 p.m.
(C) 7:00 p.m.
(D) 6:00 a.m.

95. Which of the following state-
ments is correct?

(A) Natural gas is found in
Dharwar rock formation.

(B) Mica is found in Kodarma.

(C) Cuddapah series is famous
for diamonds.

(D) Petroleum  reserves are
found in Aravalli hills.
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92. fogr &I iifcieh T=AT =gt Jomfert 93. f=fafigd # & =&-w1 ¥gH w9

o Tt 31 T omfert s e TR fafaea & g @ gfien & g
¥ e Hifsm g &7 g, EH Sandeqd, 9qg @2,
frere-ad qaferer o Sd, 9gd o,
fufwat, % Taea 3R Gua &
il orer <o 4 v 37
£
Eiag%ﬁﬁ;ﬁa (A) TR H @rEl TREhRER e

b. oM T2F Wl 2. i s fRy (B) Far aeft amehR frord

ERIEE T (C) Hewad arwehER fed
c. T FgH TUTEA 3. HeH [ TR (D) Hafh sEedrr fod
Tk freen =t e
2
94. 90° gdf Jei | ferd fovg (em) =t
d. gtk =IgH oTell 4. ST Je, = g Tg i@ fise, Se A=
TeR, SIS, (0°) & 3T 12:00 &t %l & 2|

3T 3 o
Select Cwids pm
!('.-rr:h'm; ||'H IJfrr.r]Ir

/(B) 4:00 p.m.
fr fou T g2 w1 o AR wd I (C) 7:00 p.m.
;fﬂl (D) 6:00 a.m.

(A) a b C d

3 4 1 2 95. fmfafad & @ #F-1 woF Wt 77
B a b c d (A) YRATE FEH GEEAT § Uehfas T4

1 3 2 4 g St 2|

(B) 319 HISWT | I STl 2|

(C) a b c

2 3 4 1 (C) shew SEe Eri o fo1g ufirng 2|
D a b c (D) e WeR e werfedt #

4 2 3 1 T S 2
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96. How many latitudes are there 98. On which plateau, the Tropic of
on the globe drawn at 1 degree Cancer and the Indian Standard
interval? Time Line intersect each other?

(A) Bundelkhand

(A) 180

(B) Baghelkhand
(B) 178 (C) Malwa

(D) None of the above
(C) 179

99, Which district of Uttarakhand
is not situated along the Tibbet

(D) None of the above boundary?

(A) Uttarkashi

Select Ciy IJI.hmoh
lle‘!l[iI”’fr :””

(C) Almora

97. The average height of the Kosi

plain from mean sea level is (D) None of the above

(A) 300 m 100. Where does the El Nino current
flow?

(A) The Pacific Ocean

(B) 150 m
(B) The Indian Ocean
(C) 30 m
(C) The Bay of Bengal
(D) None of the above (D) More than one of the above

19-C/FI/CC/PT-2023/201-A <3 20 1 {CTCIRT AARRTRRTRRt 1R T



96. ™ W 1 feft & e W di=ht 98. fFH TR W Feh-TEl 9T AR WS

3TeqTen Y@, feraft 27 T T@T TH-GR ol et 27
(A) F<a@
(A) 180
(B) =&T@ €
(B) 178 (C) wTetan
(D) 37 & ¥ HIE T
(C) 179
: . 99, W@ T I HIH-a1 fSen fdeaa dmr @
(D) 3T ¥ & HrE T i e 37
(A) ITLewTEd
Select Ciyls:
(vealing fey good
97. ®E HgH # W THE dd U MHq © '
T (D) www # & 0 7
(A) 300 Hix
100. T it 9RT el yarfed Bt 27
(B) 150 Hiex (A) TR HETETR
(B) T "R
(C) 30 HeX
(C) e it @t
(D) 3% # & =IE T (D) 3w & & @ Afen
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101.

102.

Consider the following
statements about the collegium
system :

1. The Supreme Court

collegium is a five-member
body, which is headed by
the incumbent Chief Justice
of India (CJI) and comprises
four other seniormost
Judges of the Court at that
time.

2. The Parliament by law
has evolved the collegium
system.

3. The Judges of the Supreme
Court and High Courts are
appointed only through the
collegium system.

4. The collegium system was
introduced in the year 1993
by Justice P. N. Bhagwati
in the la
Judges Case

Which of the ab
is/are correct?

(A) Only 1

B) 1 and 2

(C) 3 and 4

(D) 1 and 3

Consider the following

statements regarding the 42nd

Amendment to the Constitution

of India :

1. It added three words
to the Preamble—‘Socialist’,
‘Secular’ and ‘Integrity’.

2. It added eight Fundamental
Duties to the Constitution.

3. It added new Directive
Principles, i.e., Article 39A,
Article 43A and Article 47.

19-C/F1/CC/PT-2023/201-A

103.

104.

4. It granted power to the
President, in consultation
with the Election Commis-
sion, to disqualify members
of the State Legislatures.

Which of the above statements
are incorrect ?

(A) 1 and 2
(B) 3 and 4
(C) 2 and 3
(D) 1 and 4

The specifications required for
a community to be declared as
a Scheduled Tribe are

1. indications of primitive traits
2. distinctive culture

3. shyness of contact with the

glétl [:[-:[ ( :i'ii . munity at large

ackwardness and geogra-

m!r'ft‘s'r“[‘.' ”,Ir fr” 'r b ;F;hical isolation

Which of the above are correct?

(A) Only 1 and 2

(B) Only 2, 3 and 4
(C) Only 1, 3 and 4
(D) All of the above

From which country, the Indian
Constitution has taken reference
for the idea of the Fundamental
Rights?

(A) Ireland

(B) United States of America
(C) United Kingdom

(D) Canada
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101.
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FHidf=H qoedt % an §, e

FHoA W o= fifs

1. gfm &2 HdEw TH drE-
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B Bl
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103.

4. 9% ZN UPAd I TG TR &
wWHY ¥ TSy fouE-maeT)/
T gl & TS HI W A
A 1 MIHR TG Towam |

ST § ¥ HH-T HIA Terd o7

(A) 132

(B) 33 4

(C) 23R 3

(D) 1 3R 4

foreft Te™ &I STggfea S ok &9
§ =fva & o for emawr fafimeand §

1. rfen A&l % Hopd

2. fafste wwsfa
3. 92 UM W 9E™ % WY Th

, Select Civis
Wﬁﬁaﬁq‘w/ﬁ/%f'.mh. |rJ|r feq I:tr_riﬁﬁ@gmq@i T 2TerTa

(A) a1
(B) 1 3 2
(C) 33 4
(D) 13K 3

TRATT Giae™ & 429 SNeH & T

#, frefafad st w famm Hifv

1. 389 YMEAT H d9 3ee Sie
—‘gurEre’, ‘e e
‘Srgedn |

2. TEY GEYW # TS Hifds wded
EIc]

3. =@ U frwe-fagma g, e,
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104.

3w 0 o HE-T w87

(A) A 1 3R 2

(B) %ad 2, 3 3R 4

(C) a1, 3 3R 4

(D) 3w &t

IR wfgam § difas sfReRt &
forem =1 wwesf fopm o @ foram mam 27
(A) PR

(B) I TT STHiH

(C) Zmss fopmem

(D) hdTST
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105.

106.

107.

108.

Untouchability is  abolished
by which Article of the Indian
Constitution?

(A) Article 14
(B) Article 15
(C) Article 17
(D) Article 22

The authority to determine the
number of Judges in a High
Court rests with which of the
following entities?

(A) The President

(B) The Chief Minister of the
State

(C) The Prime Minister
(D) The Parliament

The Fifth Schedule deals with
the governance a
the interests of
group of people?
(A) Scheduled C
(B) Religious Minorities
(C) Scheduled Tribes

(D) Linguistic Minorities

In which case(s) did the
Supreme Court of India give
for the first time the doctrine

of ‘basic structure’ of the

Constitution?

(A) Golaknath vs. State of
Punjab

(B) Kesavananda Bharati vs.
State of Kerala

(C) Minerva Mills vs. Union of
India

(D) Both (A) and (B)

19-C/FI/CC/PT-2023/201-A

Select Civids »

109. Match the following political

parties listed in List-I with their
years of establishment in

List-II :
List—I List—II
(Political Parties) (Years of
Establishment)

. Communist Party 1. 1964

of India (Marxist)

. Communist Party 2. 1998

of India

. Bahujan Samaj 3. 1925

Party

. All India Trinamool 4. 1984

Congress (AITC)

Select the correct answer using
the codes given below.

c d
['.-r.r:h'nr}r f'ﬁffrr.r]ﬂ s 4 2
‘B) a b c d
2 1 4 3
(C) a b ¢ d
2 1 3 4
(D) a b c d
3 4 1 2
110. Under which Article(s), the

Speaker can allow any member
of the House to speak in his/her
mother tongue?

(A) Article 110 (1)
(B) Article 122 (2)
(C) Article 120 (1)
(D) Both (A) and (B)
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105.

106.

107.

108.

IR dfggm % e ogese 3|

109. §H-1 # HAag TSHIGH Tl H
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(B) @1g=ss 15 Tefi-1 FEA-11
& e
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3= O N =t g b. WRA HRIfE a1t 2. 1998
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(B) TST & geawsl
(C) Srermesf o fow MU e w1 TEM W wE IW
D) v ke
, 19& . b c d
ol s e Select Civils s+ 2
omeA IR fedt @ g i?l'f"fl[‘ll”}r fr”' 'rﬁB§ Irl'ra b ¢ d
) SR i 2 1 4 3
. (C) a b C d
(B) enfifer TeudeTs > 1 3 a
(© 1[f (D) a b d
(D) TS AUHEIH 3 4 1 2
IR Tt AEe |3 T /fea 110. fora/fr sTg=8e/ag=8al & 3T=rid
gohcH /el o HauYH dfPgE % HAG T o fohdl dIH HI ITHI
e et @ fogra famn? HIGHTT | Siei 31 3Se1d < |ehdl &7
(A)  TTHATY T G T (A) eTg=ag 110 (1)
(B) FIEH< YRdl SHH 3T T (B) 3T=ss 122 (2)
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(D) (A) 3T (B) FH (D) (A) 3T (B) FH
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111.

112.

The Foreign Exchange Reserves
(FER) of RBI include which of
the following?

1. Foreign Currency Assets

(FCA)

2. Gold

3. Special Drawing Rights
(SDR)

4. Reserve Tranche Position

Select the correct answer using
the codes given below.

(A) Only 1 and 2

(B) Only 2, 3 and 4
(C) Only 1, 2 and 3
(D) All of the above

Consider the following
statements about ‘Rules of
Origin’ :

1. Rules of Origi e the
criteria need
the nationa

product.
2. Rules of Origin help the
custom agencies to know
what regulations and fees
apply to a given product.

3. These are used for the
purpose of trade statistics.

4. Their importance is derived
from the fact that duties
and restrictions in several
cases depend upon the
sources of imports.

Which of the above statements

are correct?

(A) Only 1 and 2

(B) Only 3 and 4

(C) Only 1, 3 and 4

(D) All of the above

19-C/FI/CC/PT-2023/201-A

113. Consider the

following

statements about infant

mortality rate :

1. It is the probability of dying
between birth and exactly
1 year of age, expressed per
10000 live births.

2. The infant mortality rate in
the year 1950 was 189-6.

3. In the year 2019, the infant
mortality rate was 30.

4. As per the Sample
Registration System (SRS)
Bulletin of Registrar
General of India (RGI), the
State with the highest
infant mortality rate in the
year 2019 was Uttar
Pradesh.

Which of the above statements

are correct?

Sedect CRBS o

-,mf.'.w}r (¢4 (qeyefonly 2 and 3

(D) 1 and 4

114. Human capital formation as

a concept is better explained

in terms of a process, which

enables

1. individuals of a country to
accumulate more capital

2. increasing the knowledge

3. increasing the skill levels

4. increasing the knowledge,
skill levels and capacities of
the people of the country

Select the correct answer using

the codes given below.

(A) Only 1
B) 1 and 2
(C) 3 and 4
(D) Only 4
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115. Consider the following state-
ments regarding insolvency and

bankruptcy :
1. Bankruptcy refers to a
financial state in which

an individual or entity is
unable to pay off their debts
as they become due.

2. Insolvency refers to a legal
process, where the assets of
the debtor are liquidated or
reorganized for the benefit
of creditors.

3. Bankruptcy is a state
whereas insolvency is the
conclusion.

4. The Insolvency and
Bankruptcy Board of India
(IBBI) is the regulatory body

117. Consider the following state-
ments about the Production-

Linked Incentive (PLI) scheme :

1. The scheme offers a
production-linked incentive
to boost domestic manufac-

turing and attract large
investments in mobile
phone manufacturing and
specified electronic
components.

2. The scheme has two
categories of applicants,
namely, global companies

and domestic companies.

3. The scheme shall extend an
average incentive of around
8% on net incremental sales
(over base year) of goods

responsible _ ﬂl) nufactured in India and
insolvency a ﬁ@[ytl ( I'i red under the target
proceedings. .m |"4| 14 ,|’ r % ’lr { -rfrsegment to eligible

- companies, for a period of

Which of the above statements
is/are correct?

(A) 1, 2 and 3
B) 2, 3 and 4
(C) Only 4

(D) Only 1 and 2

116. In which year was the Industrial

Policy Resolution adopted?

(A) 1956
(B) 1954
(C) 1952
(D) 1950

19-C/F1/CC/PT-2023/201-A

six years.

4. The target segment under
PLI shall include (i) laptops,
(i) tablets, (iii) all-in-
one PCs, (iv) servers and
(v) Ultra-Small Form Factor
(USFF).

Which of the above statements
are incorrect?

(A) 1 and 4
(B) 2 and 4
(C) 1 and 3
(D) 2 and 3
46 [[NUHEITTAT i
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116.
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2. faaren us st ufsen @ gwafia H AR HH * I I |
HAT B, &l @R H T T2 T it Yereher St 2
el % A & fow wEE A
gifad <l STt 21 2. 3@ ANET A 3TEew i ar Aftet
3. U AT Uh SFaEAT B, Seih & 'E: F oA SR e
feamen s 2
4. vRdE feamen iR wem oteqwarn 3. I IISHT U FHRN H W Ful
e (3Mmgo fto sfto MZ0) feamen #1 erafy & fau wwa # fififa six
R e Egmar wEAE A A Aot § e aegel A IE
TEE % fou Frames o fasht (smam o W) w
frehra 21 Selecl CrvEsy s% = she s o
e e ebicaling (o g (o R
A) 1, 23R 3 4, dio Udo Mo % dgd @& AU H
Bl 2. 34 (i) «9efa, (i) 2&te, (ii) 7d-
( ) ’ -9 o Hio (1V) ot 3R
(C) “heret 4 (v) TezT-THie W FF (o THo
(D) et 1 3K 2 o o) THCT T |
3T T ¥ HH-T HIH Terd o7
e fifd dowe frm ad  etoamn
Y (A) 13R4
(A) 1956 B 234
(B) 1954
(C) 1952 (© 1%R3
(D) 1950 (D) 23R 3
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118. Consider the following statements
regarding the SVAMITVA scheme :
1. It is a Central Sector

Scheme under the Ministry
of Mines.

2. This scheme seeks to
create geopositioning infra-
structure like CORS
network to benchmark the
location and provides five
centimetre level accuracy.

3. CORS means Cross-Origin
Resource Sharing.

4. The scheme is a reformative
step towards establishment
of clear ownership of
property in rural inhabited
(Abadi) areas, by mapping
of land parcels using drone
technology.

Which of the above statements

The President can issue
directions for the reduction
of salaries and allowances of
all or any class of employees
serving in connection with
the affairs of the Union,
including the Judges of the
Supreme Court and the High
Courts.

Money Bills or other financial
bills are to be reserved for
the consideration of the
President after they are
passed by the Legislature of
the State.

Select the correct answer using

the
(A)
(B)
(€)
(D)

are incorrect?
(A) 2 and 4 j SLICL[ ( Eia

B) 1 and 3
(C) 2 and 3
(D) 1 and 4

119. Which of the following is/are
the consequence(s) of invoking
Article 360, declaration of a
financial emergency?

1. The President may order the
States to reduce the salaries
and allowances of all or any
class of employees serving
in connection with the State
affairs.

2. Money Bills or other financial
bills passed by the State
Legislature are not required
to be reserved for the
consideration of the
President.

19-C/FI/CC/PT-2023/201-A

!(.ffuiul-“}r iy (e

codes given below.
Only 1, 3 and 4
Only 2

Only 1 and 2

All of the above

120. Wthh of the following factors

otent1a11y contribute to
in the Indian

H1gh inflationary pressures
due to increased Govern-
ment spending

Decline in industrial
production and sluggish
economic growth

Decrease in aggregate
demand and consumer
spending

Appreciation of the

domestic currency leading
to reduction of export
competitiveness

Select the correct answer using

the
(A)
(B)
(C)
(D)

codes given below.
Only 1 and 2
Only 2 and 3
Only 1, 3 and 4
1, 2, 3 and 4
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118.

119.

‘Tfirea’ A & Ty °, fEfafea

FHuAl W o= fifs

1. I8 @ B & eRR H SRd
T e AT ST 2 |

2. I& AN Ho 3o HNo THo
Feadk  fit de i
SRR 1 Uid A dh hl
Hhdl YeH A AT TG S
F T R & R

3. Ho 3o IMo THo = Haws
g -Affem fad o 7)

4. 9 TSI S qehAT T ITAN T
I % BR-BIE WS H AR
TIR T O afeE (STee)
F &l W gufd w WE @i
fyd & o foT Uk gemres
T YSH Ll 2|

Wﬁﬁaﬁq-ﬁaﬁ Select Civ

(A) 23R4
(B) 13K 3
(C) 23R 3
(D) 134

et foxflm emuqwe i feafa @

31g=88 360 ! TN HH /6 TROMH

Frafafiga & @ w=-wr/a 2/87

1. Tguld sl H TST AWl h
ey 0 gard |t a1 Tt =t &
FHATET & daq 3R W A
T 3 T Tohd & |

2. U9 fourwsa 3w wii@ oA
ftas I o= forflm fodas =
yoafa & faemoed smfea wa i
STETIHAT & 2 |

19-C/FI/CC/PT-2023/201-A

3. UgUfd 3I=aH =EeE IR 3=
AT o STl o @Y HE ATl
& Ty T garg et o Tt o
F FHANET & da9 R W HA
A T AT € Tohd & |

4. Ty fagmHed g0 wid BW %
I o fgws W s el
g Toufa & feeme smiaa
Tl STt |

f= fow T g W oW W EE W

G

(A) ¥ 1, 3 3 4

(B) Had 2

(C) et 1 3R 2

(D) 3wt wefi

ﬁﬁﬁqﬁmwﬁaw
) s § gaRhifE

!( ir{ful-‘}r f’{} ‘W#WWW%?

TER " H ghg & HRU I
gEhifa gara

2. 3fEfies I § fiae 3
amfefen foepmar o gt

el AT 3TN JUFIHI @ § HHl

4, W YA A ghg & wRO R
TfaEaeicaehat T

d= fau MU Fe W WM W Ad W
g

(A) WA 1 3R 2

(B) %t 2 3R 3

(C) %aa 1, 3 3R 4

(D) 1,2, 33N 4
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121.

122.

123.

As per the Economic Survey,
2023, which of the following
statements describe(s) the trend
of Foreign Direct Investment
in India?

1. It has decreased due to the
less participation of the
private sector.

2. It has increased compared
to the prepandemic levels.

3. It has increased rapidly
without decreasing in any
Financial Year after the
telecom sector was entirely
reformed.

4. It has decreased due to
a weak global economic
situation.

Select the correct answer using

the codes given below.

(A) Only 1 and 3

(B) 2 and 4
(C) 1,2 and 3
(D) Only 4

What is the current population
of Gaya district of Bihar?
(A) 598000

(B) 320000
(C) 780000
(D) 234000
Which of the following
statements about non-plan
expenditures of the Central

Government is correct?

(A) The expenditure is on
interest payments.

(B) The expenditure is on
science and technology.

(C) The expenditure is on
agriculture.

(D) None of the above

19-C/FI/CC/PT-2023/201-A

124.

125.

. A
Select Civils»
!".mh.u}r f'ﬁxjrrr:

Which of the following is not
true about globalization and its
impact on India?

(A) It has expanded trade in
goods and services.

(B) It has led to greater flow of
Foreign Direct Investment.

(C) Increase in
greater than
imports.

exports is
increase in

(D) None of the above

Consider the following
statements about the Ilatest
developments in the Union
Government finances :

e fiscal deficit of the
Government had
eached 9-2 percent of GDP
during the pandemic FY21.

2. The fiscal deficit has
moderated to 7-7 percent of
GDP in FY22.

3. The revenue collection over
the last two years has gone
down.

Which of the above statements
is/are correct?

(A) Only 1
B) 1 and 2
(C) 2 and 3

(D) None of the above

o T EE R R



121.

122.

123.

ot waAam, 2023 % IEE,

freafafaa & @ S9-91/8 %9 vra |

gy faft faw & waf @ aolH

AT/ B /87

1. =t & f 0 arfiert & wro
o et or R

2. WEMM ¥ UEA % TR A gor °
T gfg gl

3. <cnm T § gl @@ ¥ guR
TN F we e oft o ad @
for =2 T ISt © el g

4. FAR dfvs onfdw oy &
RO 3HH FHHT TS B

H= fu MU e W TN W TE IW

g

(A) ad 1 3R 3

(B) 2 3R 4

(C) 1, 233

(D) % 4

foer & mn fen i adAE SEEE
fopertt 27

(A) 598000

(B) 320000

(C) 780000

(D) 234000

Fg WA TS = % AR b,

Frafefaa @ @ wF-a1 %o T 27

(A) =, SIS PTAH W BT 2

(B) =¥, fogm 3w drenfieht @ g
H

(C) =M, HY | a2

(D) 3% # | I T

J

19-C/FI/CC/PT-2023/201-A

124. IR0 3 YA W 3Hh A o o1

125.

¥, Ffafgd § @ SH-91 9 & 87

(A) TE FEgeTl 3R et § SR
forear T 2

(B) @8 ¥y fagsft fraw w1 vamw
el 2|

(©) fra # 35, wem # afz @
P

(D) 3ww # © 1S T

Y TR & foa § Fefaq faema & s
T, ffafaa ot w famm fifs

1. wemr forftm ¥ 21 & <RE @9

, T REEALID]
a1l

!".-f-qfhlf f’{i. I:lr {ie

2. foxfl@ a9 22 # TSI =ET 1
B Thel e I K 77
yferera & T 2

3. Tusal @ aui o UeEa WUE *E Bl

T R
Tl @ -/ o w2/
(A) w1
(B) 13 2
(C) 23R 3
(D) 39 # & g T
s1 ((HURRNO I e | e.r.o.



126. Which of the following were the

127.

reasons for the failure of the
Revolt of 1857?

1. The military superiority of
the British

2. The rebels did not have
a unified programme and
ideology

3. There was a lack of support
from all the sections of
society

Select the correct answer using
the codes given below.

(A) Only 1 and 2

(B) Only 2 and ‘)

(C) All of the aboV

(D) None of the above

The cook from Bihar who
saved Mahatma Gandhi’s life
from a murder attempt by food
poisoning in 1917 was

(A) Muzaffar Ahmad

(B) Batak Mian

(C) Mir Bakawal

(D) None of them

19-C/FI/CC/PT-2023/201-A

128.

129.

130.

The Bakasht Movement in
Bihar during 1937-1938 was
organized by whom?

(A) Swami Dayanand Saraswati
(B) Jayaprakash Narayan

(C) Swami Sahajanand
Saraswati

(D) Peer Ali Khan

Consider the following events
during India’s Freedom
Struggle :

1. Home Rule Movement
2. Surat Split
3. Kheda Satyagraha

Sﬂl[:[:[ ( :I4'\ i]‘rﬁto—Morley Reforms
['-'f"!l[i'll-’}r feq

IWP}Fh of the following is the
.flcorrect chronological order of
the events given above?

(A) 1-3-2-4
(B) 2-4-1-3
(C) 1-4-2-3
(D) 2-3-1-4

Lord Lytton is not associated
with which of the following?

(A) The Strachey Commission
(B) The Arms Act
(C) The Vernacular Press Act
(D) The Ilbert Bill
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126.

127.

1857 o fage il fawarar & fafafaq
0 9 $hi9-9 HE A7

1. S &= s

2. fTasifeat & u =i uhicha wriwn
Te formem & oft

3. wus & aft am @ wmedw
A AT

d= fer T g W oW W EE IW

128.

129.

1937-1938 & @rM, fogr § shrd
Aele e g sTEifsa T
TIT AT?

(A) TETH T G
(B) S eIl AR
(C) @™l TEsTH-< TLEd!
(D) 9N et @™

UG & Tadodl UM % SRH,

. frefafad semett w fomm fifse
1. TW & <o
(A) wad 1 3R 2 2 ggr%ﬂﬁm
(B) #aw 2 3R 3 3. ST W
. 4. oAl g
(C) 3w wef Select (le-}{' % oo = PR § 4
(D) g i (nealinsf (5 ot et et o 87

foer w1 a® wWEm, e 1917 H
HETeHT et i g % T fawd
F 3H WieH 0 it ST @ 3R S
s=Te off, o

(A) YSTHHL 3EHS
(B) e foi
(C) HR Tehare

(D) T ¥ w5 T

19-C/FI/CC/PT-2023/201-A

130.

(A) 1-3-2-4
(B) 2-4-1-3
(C) 1-4-2-3

(D) 2-3-1-4

A foeq ffafaa & @ feom
grafea T8 87

(A) T i

(B) ¥ afefem

(C) afierger 5@ U

(D) see foret
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131. Which treaty was signed after 134. The Quit India Movement in

the Battle of Buxar? 1942  witnessed  significant
contributions from leaders of
(A) The Treaty of Allahabad Bihar. Which prominent Bihar
leader was known as the ‘Bihar
(B) The Treaty of Sugauli Kesari’ and actively participated

in the Quit India Movement?
(C) The Treaty of Bassein

A) Dr. Rajendra Prasad
(D) The Treaty of Salbai (A) y

(B) Shri Krishna Singh

132. The Dutch East India Company
established its factory at Patna
in which year?

(C) Anugrah Narayan Sinha

(D) Ram Manohar Lohia

(A) 1635
(B) 1632
135 .dn _response the mass
(C) 1643 ‘)LICL I?liltll ép of the Champaran
[ L |"q| L{ f’{ o PyFment the British
(D) 1648 J'r /Government took which step to

address the issue?

(A) Appointed Mahatma Gandhi
as the Governor of
Champaran

133. In which of the following
movements did Mahatma
Gandhi make the first use of the

hunger strike as a weapon?

(B) Enforced strict curfew and
) imposed Martial Law in the
(A) Non-Cooperation Movement region

(B) Bardoli Satyagraha (C) Instituted the Champaran

Agrarian Committee
(C) Ahmedabad Strike

(D) Declared Champaran as an
(D) Rowlatt Satyagraha independent State

19-C/FI/CC/PT-2023/201-A T 1 TR AARRRTRRTRRe 1R T



131. JF I e & w1 fHg Gy wm
TETeR fopw mu?

(A) IATETER €Y
(B) Ficf fer
(C) <fem =iy

(D) HTeTETE |y

132. =9 32 sfgar oot 3 forg 99 e |
ST TR T feman?

(A) 1635
(B) 1632

(C) 1643 j

(D) 1648

133. f=fefaa 4 @ fFa er<iem @ w@rem
el 4 @ gedAe @ ERER % w9 H
g9 T T om?

(A) SO 3T
(B) SaIclt Temrg

(C) EHSEE gedlcd

(D) TcTe acImie

19-C/FI/CC/PT-2023/201-A

55

134. T 1942 # 9Rd ISl <o | fowr
% Adredl 1 AU AREE @ ATl
forer & ®F-8 yg@ a1 ‘TR Fad’ &
IH F IH A 9 3R I 9IRGBl
eI | G ®9 A 9T foram an?

(A) Tfo TNFg YOTE

(B) fiegon foe

(C) 1gue TR faw

(D) TH TR Alfen

Selechd Bl Sem 5 = smem 5
[-.mh'nr’; feq :F.ﬁ@(m i ffw wER 3 W R ¥

T % fu HH-91 ey I3ME?

(A) TeTedT et Sl STaRer & TSI

frer Fem

(B) & # wed W «n] fRn v
ISt &l T

(C) <varer iy AfHfa 6t Tomdr it

(D) =RV & TH Wad T AN
e

IFRNAE T e.r.o.



136. Match List-I with List-II :

List—I List—II
a. Servants of 1. Debendranath
India Society Tagore

b. Tattwabodhini 2. Gopal Krishna
Sabha Gokhale

c. Atmiya Sabha 3. Ram Mohan
Roy

4. Keshab
Chandra Sen

Select the correct answer using
the codes given below.

(A) a b c
2 1 3
B) a b c
2 4 3
(C) a b c
1 2 3
D) a b c
1 4 3

137. Ambabai, a woman freedom
fighter, belonged to which of the
following States of India?

(A) Kerala
(B) Andhra Pradesh

(C) Karnataka

(D) Madhya Pradesh

19-C/FI/CC/PT-2023/201-A

138.

139.

140.

Who among the following was
not the member of the Cabinet
Mission?

(A) P. Lawrence

(B) A. V. Alexander

(C) J. Andrew

(D) None of them

“The Indian National Congress
was founded on the basis of
safety valve theory, to protect
the British Government from

threats.” Which leader said
that?

J Select Civilg™=r"

!f'.'ml[h I-‘; fr{i. I:(Bﬂ i#_,ala Lajpat Rai

(C) Bipin Chandra Pal

(D) None of them

In which of the following Indian
National Congress Sessions,
the resolutions related to the
Fundamental Rights were
passed for the first time?

(A) Surat Session—1907
(B) Gaya Session—1922
(C) Karachi Session—1931

(D) None of the above
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136. H-1 Fl -1 ¥ Gufad Hf :

Tei-1 -1
a. YRd Yae TS 1. JeFEATd HR
b. TEEITEHT T 2. TS T TEe
c. AT | 3. T HiEd 1
4. TE TF BT

137.

f= for T g W oW W EE W
Ffl

(A) a b c
2 1 3

B) a b C
2 4 3

(C) a b c _,#;7h
1 2 3

(D)

o
o8
O

SAATETE, Ueh Toa==IdT O, TR & {5
T i off?

(A) A
(B) 1Y o
(C) Al

(D) 1T Yo

19-C/FI/CC/PT-2023/201-A

138.

139.

140.

T | B ohfore HRM & 9e& A€ 97
(A) do ai|

(B) To dio ciasivel

(©) o T

(D) 38 ¥ =15 T

“grer area fagea % YR W 9RdE
T i A T, fafen wew wm
Tl ¥ = % o off)” 3w feem
form a1 = 97

(A) Hio TSATHTETET

Select Civils ™
!‘Hm‘hlfi f’f‘.. IJ(Q fﬁﬁ'—!ww

(D) TH ¥ HIE T

Frafafga 4 @ 9rd wd w0 *
fra stftese @ ueeft sw Aifas
SRl wFEfEd yedE 9 fRg
DK

(A) A AfETH—1907
(B) TR AfUEH—1922
(C) ur=f ferEsm—1931

(D) 37 | & HIE T
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141.

142.

In a certain code language,

‘GAME’ is written as ‘$ +* %’

and ‘BEAD’ is written as
#% +x. How will the word
‘MADE’ be written in that code
language?

A) $+x%
(B) *+$%
(C) *+x%
(D) #+X%

Q travels tow
travels towards
travel in opposite directions.
T travels towards right of Q.
Which of the following is
definitely true?

(A) M and S travel
opposite directions

in the

(B) S travels towards West

(C) T travels towards North

(D) M and S travel in the same
direction

19-C/FI/CC/PT-2023/201-A

143.

Select Ui
é(jﬁ/,“f“"f fr“ f(AI (Mlllmery Hats

145.

A man ‘Ramesh’s who owns
a plot of land of 100 square
yards, increases his plot of
land by acquiring 10% more
from his neighbour ‘Suresh’,
who also owns 100 square
yards land. After 2 years, he
sells back 10% of the total
plot to the neighbour. Which
of the following is correct?

(A) Ramesh’s land is more than
Suresh

(B) Suresh’s land is more than
Ramesh

(C) Both are equal

(D) None of the above

the odd pair among the
optlons

(B) Brewery : Alcohol
(C) Stationery : Paper
(D) Snobbery : Shoes

What should come in place
of question mark (?) in the
following number series?

132 156 ? 210 240 272

(A) 196
(B) 182
(C) 199
(D) 204
58 (MO0 T OTORAE R



141.

142.

wF Ffeed g2 9 #, ‘GAME’ &
‘$+x 9% fomar Smm @ 3R BEAD’
A Y% + x* Toran smar &1 34 Fe W
T ‘MADE’ 91 &l &8 fomar smom?

(A) $+x %

(B) *+$%

(C) *+x%

(D) #+x%

Q gd &I AR IE 3
I AN KAl Bl S
foemeti # A= @ 81 T, Q % IR AR
IEn w1 7| FEfatgd @ @ wE-En
Fifsaa = @ g 77

(A) M 3R S faufa feemen & amn
Fd §

(B) S ufzem &1 3T AT T B

(C) T 3 T TR AT T B

(D) M 3R S ws & fem & I
Fd 2

19-C/FI/CC/PT-2023/201-A

143.

144.

T Ak WY, f5Ees 9 100 o T
qft w1 TF iR ¥, 98 A0 ue
g, tEe @t 100 T ™
g %, ¥ 10% Mok W ek Aot
I 1 e Fe T 2| 2 " 9% a8
FA e B 10% USHT Fl GHH S
a1 2| fefafea @ @ =F-a1 = 27

(A) T A gfr, g o afers B
(B) g =t uffr, W & fees B
(C) & R &

(D) 39w & & g T

frefafga fowedt @ @ sSiie W
@It |

bl Select Cvitg?
ﬁ{qﬁmfm

i (0 i bt v

(C) T : F
(D) i : S[d
145. f=fafad e s@an 8, vw1-fE (?)
& T G T AT =1ET?
132 156 ? 210 240 272

(A) 196
(B) 182
(C) 199
(D) 204
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146. Select the missing number from 148. In a code language, if GREAT
the given alternatives : is written as 718222620 and
MONK is written as 13121411,
44 | 49 | 387 then how will VIGOROUS be
52 ? 41 written in the same language?
58 | 35 | S8 (A) 22187121812619
(A) 56 (B) 21177121811619
B) 77
C) 22187131813620
(C) 66 ©
(D) 63 (D) 21187111711620
147. Read the given statement and ;49 R the 0dd one in the following
conclusions carefully. Decide OUDS
which of the given conclusions groups -
logically follow(s) from the Q,W,Z2B BHKM W,CGJ MSV,X
statement.
Statement : (A QW.z.B
_ B ,S,V,X
In a one-day ¢i1:'lrl . ‘[ (,-( ). _
the total runs L L L i % % G.J
were 200, of w rilﬁs'u"hl-’}r fr{i. ifted
were made by spinners. (D) B,H,K,M

Conclusions :

1. 80% of the team consisted
of spinners.

2. The opening batsmen were
spinners.

Select the correct answer.

(A) Only 1 follows the
statement

(B) Only 2 follows the
statement

(C) Both 1 and 2 follow the
statement

(D) Neither 1 nor 2 follows the

statement

19-C/FI/CC/PT-2023/201-A

150. Four branches of a company are
located at M, N, O and P. M is
in the North of N at a distance
of 4 km; P is in the South of O
at a distance of 2 km; N is in
the Southeast of O by 1 km.
What is the distance between M
and P in km?

(A) 5:34

(B) 674

(C) 285

(D) None of the above
(o1 TR ARRRMRRTRRE 1R TE



146. fau U foskedl # & W 91 1 gHT -

44 49
52 ?
58 35

37
41
53

(A) 56

B) 77

(C) 66

(D) 63

147. fau Tu wom R fapd &l emgEs
ufer| Fafafaa & @ wF-w1/8 Freed

qIfcheh &9 ¥ FUA & IFER 7/2, f=m

148. T% J 9w H, AT GREAT =l
718222620 3  MONK =
13121411 fomar S g, o &t am
T VIGOROUS #i &8 forar smm?

(A) 22187121812619
(B) 21177121811619
(C) 22187131813620

(D) 21187111711620

149. fFffad wgl # ¥ ssiie &l @i
Q,W,ZB BHKM W,C,G,J M,S,V,X

i | (A) Q,W,Z,B
A 1 .'-LB) ,S,V,X
el werRReeta Select Civi S
F 200 T AT . '.{qafmrj; feq :f?? fVCG
fet gr s (D) B,H,K,M
faeny .

1. 2W % 80% faael fem 9|
2. AufE agars fem 9

el IW |

(A) et 1 HIF HT FTET FLAT T
(B) HacT 2 U HT AT BT &

(C) 1 3R 2 TAI FH & AFE
Gl

(D) I @ 1 3R 9 & 2 FF
STFET T B

19-C/FI/CC/PT-2023/201-A

150. TF Ul F 9 Ir@E M, N, O 3R

P ®fEa i M, N% ®#A
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Note : English version of the instructions is printed on the First Page of this Booklet.
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